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Solve each problem.
1) Nancy had 792 quarters. If it costs 9 quarters for each coke from a coke machine, how

many could she buy?

2) Isabel had 542 video games. If she placed the games into 2 different stacks, how many
games would be in each stack?

3) Kaleb made 404 dollars mowing lawns over the summer. If he only had 4 customers and
each person paid the same amount, how much did each person pay?

4) A pallet of boxes weighed 232 kilograms. If there were 8 boxes on the pallet and each box
weighed the same amount, how much did each weigh?

5) Sarah bought 980 bottles of water when they were on sale. If she drank 4 bottles a day how
many days would they last her?

6) A farmer had 648 seeds to plant. He planted the same number of seeds each day and it
took him 8 days to plant them all. How many seeds did he plant per day?

7) George's dad bought 894 centimeters of string. If he cut the string into 6 equal pieces, what
would be the length of each piece?

8) The roller coaster at the state fair costs 8 tickets per ride. If you had 376 tickets, how many
times could you ride it?

9) There are 532 students in a school. If the school has 7 grades and each grade had the same
number of students, how many students were in each grade?

10) Katie is making bead necklaces. She has 414 beads and is making 6 necklaces with each
necklace using the same number of beads. How many beads will each necklace use?

Answers

1. 88

2. 271

3. 101

4. 29

5. 245

6. 81

7. 149

8. 47

9. 76

10. 69
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Solve each problem.
1) Nancy had 792 quarters. If it costs 9 quarters for each coke from a coke machine, how

many could she buy?

2) Isabel had 542 video games. If she placed the games into 2 different stacks, how many
games would be in each stack?

3) Kaleb made 404 dollars mowing lawns over the summer. If he only had 4 customers and
each person paid the same amount, how much did each person pay?

4) A pallet of boxes weighed 232 kilograms. If there were 8 boxes on the pallet and each box
weighed the same amount, how much did each weigh?

5) Sarah bought 980 bottles of water when they were on sale. If she drank 4 bottles a day how
many days would they last her?

6) A farmer had 648 seeds to plant. He planted the same number of seeds each day and it
took him 8 days to plant them all. How many seeds did he plant per day?

7) George's dad bought 894 centimeters of string. If he cut the string into 6 equal pieces, what
would be the length of each piece?

8) The roller coaster at the state fair costs 8 tickets per ride. If you had 376 tickets, how many
times could you ride it?

9) There are 532 students in a school. If the school has 7 grades and each grade had the same
number of students, how many students were in each grade?

10) Katie is making bead necklaces. She has 414 beads and is making 6 necklaces with each
necklace using the same number of beads. How many beads will each necklace use?

Answers

1. 88

2. 271

3. 101

4. 29

5. 245

6. 81

7. 149

8. 47

9. 76

10. 69

1-10 90 80 70 60 50 40 30 20 10 0



Name:Division Word Problems (3÷1)

Math www.CommonCoreSheets.com

Solve each problem.

47 101 245 81 88

76 149 69 29 271

1) Nancy had 792 quarters. If it costs 9 quarters for each coke from a coke machine, how
many could she buy?

2) Isabel had 542 video games. If she placed the games into 2 different stacks, how many
games would be in each stack?

3) Kaleb made 404 dollars mowing lawns over the summer. If he only had 4 customers and
each person paid the same amount, how much did each person pay?

4) A pallet of boxes weighed 232 kilograms. If there were 8 boxes on the pallet and each box
weighed the same amount, how much did each weigh?

5) Sarah bought 980 bottles of water when they were on sale. If she drank 4 bottles a day how
many days would they last her?

6) A farmer had 648 seeds to plant. He planted the same number of seeds each day and it
took him 8 days to plant them all. How many seeds did he plant per day?

7) George's dad bought 894 centimeters of string. If he cut the string into 6 equal pieces, what
would be the length of each piece?

8) The roller coaster at the state fair costs 8 tickets per ride. If you had 376 tickets, how many
times could you ride it?

9) There are 532 students in a school. If the school has 7 grades and each grade had the same
number of students, how many students were in each grade?

10) Katie is making bead necklaces. She has 414 beads and is making 6 necklaces with each
necklace using the same number of beads. How many beads will each necklace use?

Answers

1. 88

2. 271

3. 101

4. 29

5. 245

6. 81

7. 149

8. 47

9. 76

10. 69
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